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QUESTION 1

Which of the following MQ objects does NOT have cluster workload balancing attributes?
A. Queue

B. Topic

C. Channel

D. Queue manager

Correct Answer: B

QUESTION 2

When an MQ application running on a distributed platform connects to a local queue manager, which statement is
TRUE regarding security checks?

A. The queue manager uses the operating system userid associated with the MQ application.

B. The queue manager authenticates the MQ application using the userid and password as passed in the MQCONN
call.

C. The queue manager examines the value of the MCAUSER field.
D. The queue manager examines the value of the SSLPEER field.

Correct Answer: A

QUESTION 3

Which of the following is NOT a WebSphere MQ v7 installable component?
A. WebSphere MQ Broker

B. WebSphere MQ Server

C. WebSphere MQ Explorer

D. WebSphere MQ Client

Correct Answer: A

QUESTION 4
Which of the following statements is NOT true regarding queue manager clusters?

A. Simplifies distributed queue management
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B. Requires a separately installed component
C. Provides for workload balancing
D. Can be dynamically joined by participating queue managers

Correct Answer: B

QUESTION 5

Which topic string is NOT valid for a subscribing application to get all messages about fresh fruit if a topic tree exists
with the following topic hierarchy: deli/fresh; deli/tinned/nuts; deli/tinned/meat?

A. deli

B. deli/+/fruit

C. deli/fresh/fruit
D. delif#

Correct Answer: A
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